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14 (for a) & 12 (for b)
15 (for a) & 5 (for b)
6 (for a) & 24 (for b)
12 (for a) & 24 (for b)

. 20 (for a) & 28 (for b)
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132
360

. 15+3 =5

12+4 =3

L 8xVa=2

12xV5 =4
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. 16+8 = 24 (cups)

. 2x3 =6 cuts

. 3x3x3 = 27 cubes

. 8 (There are 8 vertices.)
. 477 + 534 = 1011

. 325+ 35 =360

. 35-29=06

. 1700 - 1400 = 300

. 10+6+4=20

2x(3 +2) =10
15-10=5

. 4x(9 + 6+ 5) = 4x20

= 8§80

3x4 =12

3x4x20 = 240
8x5x12 = 480 (lights)
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. 40+ 8 =5 min
. 45+5 = 9 miles an hour

. 75+25=3

(25— 5)x3 = 60 points
334 + 266 = 600
600+4 = 150 qts

. 2x(12 + 28) = 80
21
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